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1 Question Description AT [T N &9 aara a¥ SRA ST STd (efgard.
A U I TUAT
B SFUEIESE KD
c et faruwr a0, A fauw 3@
D feer RerawT S, gE R a2,
E None of the above
Correct Answer B

Marks 1



Question Description ‘T TEEITEI S ST ST aTSHT & TR SHReST o Ao (T (T fEeroT AEeca Ut U4 HIeaT §e TR ara heir?

A RS AUST WTNT 78T

B s qiiged 4ad AUSes
c TS AUST ATEAT

D e farT Rdaer

E None of the above

Correct Answer A

Marks 1

Question Description TSI, “TEITIUI, “TSHTeS” TSI T GEhd-ANST Msaidie ‘TS =T Y Hrar?
A LG

B ST

c =

D ff=a

E None of the above

Correct Answer B

Marks 1



Question Description HTTT TEHASH T+ GURATAT THAHT ATST HITAT AR (090) &T HURIT HIVCHT HAIET AT ATAT TR 2

A TAT =TT, ATYT HEaTur SATior g9 Areeat
B AT AVEART, TSI AT I THHT

c TEX qSh, T X AT Go Ho TSHS

D fare STo FREFT, TF T AT 315 AR

E None of the above

Correct Answer C

Marks 1



9 Question Description AUEr AN GRS AT S U Ir<4r §94d SIS9T @rar -

. o dATo AETT i). dEEsEA Ay

ar. Fo 1o gerepoll ii). WETOE ATNET Fi (TAH AAT)
T. SATSETATE AT iii). w<Et wmar @ S anfr R
T. Fo Tlo FeAHT iv). W@t Tt St

v). Fai aedt e gl it

A T -V, 3 — iv, T — i, T — ii.

B F - i, - LT - iv,§ - iii.
Cc T - i, 3 - iv,§ - v, E—ii
D qT - iV, - v, - i, ¥ -i
E None of the above

Correct Answer A

Marks 1



Question Description TAT Fa T T A8, & & A {5 €T a9 TUHAT THa==r 3, § 7 S0 ?

A AT ATEBHC

B AREIT TR ATEH
c ITRET qIUSAT qESHT
D AR FT THA

E None of the above
Correct Answer D

Marks 1

Question Description FUTHR Siro To FARUTAT AT=AT HVCAT HUTHRIRIATS! AT T FARHET TR ATHAT /raT?
A ACSELTE

B SIENETE

c e

D ASTBHTAT

E None of the above
Correct Answer D

Marks 1



Question Description FrEq TIHTATT T&=T ATSITTaRT HIor?

A AT ¥

B AT ALFH TR

c EISG IR R

D AT AT

E None of the above

Correct Answer B

Marks 1

Question Description ‘ITAYY FTRFAT TTarar qvsIe ar Fweir

ke AAH -IIAT AMEEIAT AT T AT A IT T AA N AOrar ?

A farr=r

B [EEIES)

c =T

D [ECIEEIN

E None of the above
Correct Answer A

Marks 1



10 Question Description
A

Correct Answer

Marks

ASIAIT ST U R ?
A, LE LA
LILCELLT
HILLELLA

3,5, TLO LA

None of the above



11" Question Description “qrfed #fadd W UF TRET U 7 FEeewr REE A9 @ Sider W weaeAT WANTE ofeieT ATEr. U eqTdeSAr TS ASATSAT
Fa=auue oeer R . @ Ue &r Wskiq A9A Aaid JueT AFeledT ITTd IR . i W [¥Y W WA Sfadia oaiar Sy, ar &ae
THAET 7919 IABT T ITHd AT TEAd. AERT df Fd« JAERET @HAd qE AnTawd, fdq Boaaa. o@ide =g, o=k af Raq
TRT. IAC § T TR AAS SASIEET § JEEET hagl deal TAFET WIS FAT. 7 — 7 AGTSET AOT Hed @ ?

A EEIECENE MERCICINE RCIE 1Y

B e weRe wWiww

(o grigcaadTe TE T BamT T
D faerae arie qraET

E None of the above

Correct Answer D

Marks 1



12 Question Description TS TR B d, T A=aTHT Hd T, T9TeS T AT, Mo 35 ATSHIART AT (a0 AERT ST 1T GHACNT G TTHC fegehi

A =g Fb T~ HcgCh
B #TE FT HERERT
c BT T fieged]
D Aot R=amT fiegea]
E None of the above
Correct Answer A
Marks 1
13 Question Description ST AR MTawT THS, THFT YT WTUSKET & SAT e [T AT ald caT “URETHE SO §G6 7 RV ST Hetl?
A STHAT ATRATE THIET STHET
B HARAT &9 T8 — T
c RILERIRTICIEY
D ST TS TS ST
E None of the above
Correct Answer C

Marks 1



14 Question Description WIS 9T, = T, RosaaeuT aifavdier gerse, AqTHE TEAN doler qui= FgUraT SATHTT STUT TEIETar Ter qO 19T THCAT SATATAT
ATYTATHS g (fevaee o) o1 a5 frv fetr =me?

A A TR

B LEECRRIL

c S SATRES

D T T &he

E None of the above

Correct Answer A

Marks 1

15 Question Description AT faamdietdier Sto e aTe SRRHTE AT=AT IO AITTETAEEr TEAT AT TaU GaUsar SaHare arer &7 Srva= avredr fqamieraEr

TR T2

A Ha% faamie

B TR faemite

c wrfaamite

D SfIHAT ATTETS, THIET ST faaTie ({as)

E None of the above

Correct Answer A

Marks 1



16 Question Description THARAT FEUA AT ?

A AU [S]=4T QFSiT [ ReaT (5147 Tastt [€]; =UI [8] T [ &= e1e
B HERATATS [S]4T TS [55] FhT [o5]54T oSt []; S0 [€] T [5] &I o
c (T5)=AT T (FF), (FebTT)=aT Eesl (FST)
D IFYIAT AT srffavate
E None of the above
Correct Answer B
Marks 1
17 Question Description TR T M-aaarer AUel Raresr faurviae avmes fr?
A AT TENIT 9T
B W® AT ATAHT
c R SEeT HiE
D AR GFEFR
E None of the above
Correct Answer B

Marks 1



18 Question Description “ RIHU FEUE TG, ST T STETIT Aol TR T8 ATT 20T QN 8réer,” & et iy er?

A TIETE T aaTo To TSI i« TAT=AT “UTT FAUST HINT AT Rl SIATd
B o o FraTeHT T A=A Uifera AUST WINT ST AT Sera
c TR @ Fo TR AT ST T FHT 4TS T HH ST
D o Fo fHATEHT FAY HT=AT T HHW GUS T RAUT AGIawq
E None of the above
Correct Answer B
Marks 1
19 Question Description T HIGIA T THATI AT TTIATAT (T R, § Q) AU el AT AR, CATAT HfAATEARTT HIUTAT AT FATTISE FHLAT A ATRI?
A ATATS IS
B qTeATT
c YU &
D HEITILS
E None of the above
Correct Answer D

Marks 1



20 Question Description TTHATT QTS AT U A ATAT G+ AT ST (SFHAY) T GFT /ST A7 FIT ST IYATAT TS ATTAT Al T ST S9Ta¥

qd.

A GEUCIEIC IS
B ANUELEEA GO
c Tfeer farumer a0, e fauer 3
D yfeer faram g, TR faaer S
E None of the above
Correct Answer A
Marks 1

21 Question Description ‘TIAUTA TETATE ST a1 & HTHET AT G, AEAT; TR HTT FLUTAT A TG hoTeT ST &7 AT WINET Ao [eg, sear.”
A SEUKIEZCHELS
B SNUEIERE G
c et faumr a0, A fauw 3@
D Tfeer faram g, T faamr a0ee
E None of the above
Correct Answer A

Marks 1



22 Question Description

Correct Answer

Marks

AUET HOMRAT THRIYEAAT HEWq qATWE T A U qi=4T GHYER SS9T JBar :

&, ATo Mo AFSTILHT i). wPaT, HEE, 19R%.

AT, o To TTHLTT ii) .orfEae, == ¢, Hag, feul.

%. o FTo THNBFC iii). sfivgrarE w03t AMYET, to ©@E, WES, 1%%<- W
£, WMo ;o T iv). wfREd TEPaT, T, 193

v). ST A", e, $eks

F - v, - iv, T - i, —ii

;T - i, - LT - iv,T-v

;T - v, - iv,§ - i, -1

qT - ii,@n‘ - i,{ - V,i- - i

None of the above



23 Question Description ST AT, SIMIRad T, T FcaTe<aT AT Madied sa AGHa e e ary sahiTe g #Lar dard. M sr=ar TRaTNa 3T9T saRiTerar

RV FHET AR ?
A =
B hT
c =l
D fe=a ==
E None of the above
Correct Answer C
Marks 1
24 Question Description ARTRFAT AT RATOr SIUT=aT ST Heha=ar areid ATSUIGI (THAT QT faT S9ie LT QT §eT,” § Gardae ®erer gafad
R
A HIY=AT TEANTETS 9T
B =47 SATHTUTET
c IR
D 3T ST Sy AT
E None of the above
Correct Answer C

Marks 1



25

26

Question Description

Correct Answer

Marks

Question Description

A

B

Correct Answer

Marks

FEEATET - 009’ § G HUTAN GEToq 3TR?

TiEear MHaHT A=A Q&) ST

I aETeaT MHTH AST GHEATSAT (I009) TR

None of the above

AT AR Ed T8 IT=AT ‘F+2 T ATCT R AUST WY T Fed?
e ar

TeNraH e ar

T, 9.6

AW qUSterd ar

None of the above

A
1



27

28

29

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

GEITURT R 9 & ¥ 4% ¥ ST FAT TGRS TIATET AT TG ST HTEAT A2
AT AT, FAT AT FeS, HH TATIN, T qSH

AT AU, qTo To HIATEHT, TTRIE ST, TS AAHT

T wasT, fawra @Sy, wfwar= e, AT s

None of the above

A
1

TETAT HU ATHGETSRATER T2
aTferEr-aitegT ieramdr-srears s Mger
AT TG

LUER L NURE R AL )

RT3 frer-arries- et wraTger

None of the above



Question Description THEH T TS d«H =47 GiF FedqT J&T ¢

o, ATH T AL THITHHT i). sfFer am=
ar. et ad T ii). faga s
. & iii). =g fdewT
. ‘B’ arfor weme iv). AR wgE

v). e s

A F - v, - iv, T - i, § —i
B T —ii, M-, T—iv,§ -V

Cc ;T - V,3M - iv, T - i, T —1i
D o - i, - ,§ - v, § - iii
E None of the above

Correct Answer B

Marks 1



30 Question Description faraaai=ar e Wt WA WeANT IUENT GEA Hel W YA G AT GUHS FAT AFT FET (SAEER AN AEAT Fer. A
AYT  TEMd @ ®@W WA IRET IR §R9) 9N o\ er U & wW WEr - #qqer Wiive |euad a9e
TR AT (IF) - WIS TR MR-

A YU ITET TUAT
B ANUELEEA GO
c feer Frar e, g Frae 5
D vfger faramer 9=, gAY faame a0e.
E None of the above
Correct Answer A
Marks 1
31 Question Description e, Faae, RANEr aRTEiRa WRET-2Er-HAUSr wsaiare /=T o forar?
A e
B faxfea
c e
D fa=r
E None of the above
Correct Answer D

Marks 1



32 Question Description “FTFEST WTNT SATOT AT HINT JI=T Gy SR FEr THaT GH U T aTe STeol STao ai o7 Va9 dT [aarA fesr ai Sgii~ad @ eIr=ar 8%

A AT HET
B EIMIERICRCL I E R R IS
c arfeea Ao TS q29
D QI ©|IeT SIgT=AT qeare’
E None of the above
Correct Answer B
Marks 1
33 Question Description I, “ATET, YT GUTIEAT AT AT TSIT=T T Hiorar
A S ERInIER
B TGN
C ferrdr qeg=Y
D FHIRT
E None of the above
Correct Answer A

Marks 1



34 Question Description AEAT ASHAT RAHIAH T AT TWAT Wl FI=AT G ST oo ¢

. ATAT i), t4cs T 9’19y
ar. A, ii). ¢33 @ 1’eR
T. IO HD iii). 1’%¥ I 1%%0
ER iv). {%we @ ooY

V). STHAR IR AT

A ;T —v,q—iv, T —ii, T—i.
B A’ —ii, M-, T—iv,T-v
(o] T - v, A —iv, T —ii, & — ii
D o —ii, AT —iv, T—1, ¥ - ii
E None of the above
Correct Answer D

Marks 1



35 Question Description

Correct Answer

Marks

. IRE FTEIR i). wwaiEr, WaEr, 233

ar. T Wit ii) . Fiemfdent T, qu,  {9we.

T, I AAEE iii). wawfier afer drwarfier: &t s, O, {2,
2. e Ao aewc iv). wFaiRer: oF wEEE aEEE, I, R4y

v). wipaneer: A @i fe, AnnE, (%<
;T - iv, e - v, T - i, § -ii
;[ - iy - LT - iv, T -iii
T - i, - iv,T - v, T —ii
;A - v, - iv,T - i, T-i

None of the above



36 Question Description AW WET AT S YRATEE grear g9iE SS9T @

A, AABIK i). Fa%
ar. fifa ii). areadT
T. st iii). sfvmam
. AWIH iv). ameT
V). WG

A ;T - V,3M - iv, T - i, § - ii

B q - i, - i, T - iv,T-v

Cc T - i, - iv,T - v, T —ii

D ;T - i, - L, F - v, 5 -iii

E None of the above

Correct Answer A

Marks 1



37 Question Description o WX T4 AT FUA GUTRT [6q® QTigcd AHSH THAqT het?

A Feres Fo 5% WHITETAT @2]R)
B ATTET (@32%)
© GITEEAT (€25R)
D TS IMHAHT AAST FAT (§R\9§)
E None of the above
Correct Answer A
Marks 1
38 Question Description AT AT, FITAT RIUIHT, €T AT, GATAT FHTET65 AT AT AT AT TR ASIAre Acal @I aR9r Arsd sea?
A FEIY
B ST
c ELEE AT
D EEISERTE
E None of the above
Correct Answer B

Marks 1



39 Question Description QY AT qi=ar wEEY aU & GHTATI I ROTET?

A Sfo THIE TST

B WTo ToT AT hBHT

c o W& TATHT HIIAHT
D St ST FTR AT

E None of the above

Correct Answer C

Marks 1



40 Question Description ATAATIGTEr R o ST TR, X FSETAT a6 HLR AT FAT T &S &, F ST d AT TN HAT, T T FCTd AT 279r
ARVER T qiITer AT Rawr HATAT VA §SET=ar ARTTSIIrard. a T T HATAT WSKT (§5) ATGaAr  arar=aT FaSIT=aT ReaiaHsrr
W& ar edr T JAT=AT TedTd qIYar. Sa¥ IqTaT HSRT BT ar o1 =T S FOaEr faedr #ar. ar e [ GSEEr T Fgura
AT ai (FTaIT) AR @RTAr. T899 Hed T TAT ATATARIATS q7 < GeIaT¥T aradrd. & f9arg 3 Afg=aras aar. 9% #as9i4r AT JeAr=ar
AT STeAdr. §T fadier e WS’ 1@ FgUrdrd. & AT H¥T Qe detl Sra?

A gRTATER
B RUEEUS
c ATATI TGS AHTATEI

D ATTER
E None of the above

Correct Answer C

Marks 1



41 Question Description ‘T FAT G F{UN UH AEM FT AR, TG A1, HEW, Ax, HIME ITREAT TS AQ[d qrvsq Iy, a¥ ATCH L Afor Fug, Jeraar sarfor

A AR?
A [EEICEASCICC R ICICONE EC IR L
B 9E+~d 99
c [ERIRERC IR EACTY
D fars qrrr ferars e - eI
E None of the above
Correct Answer C

Marks 1



42 Question Description HAUAT aAare MEqqaur=ar gdia Far/A9ew T AGHEr TR Jrear qHes Sear v ¢

. BIET AT @I i). Reagoor (939%)
AT, BIET TRE AT ii) . e ($1%%%)
T. AT qUSe iii). dieoger (1%3%)
. BIET FIREE SO iv). Rragowr (1%049)
v). Rregoor (1e9%)

A ;T - v, - iv,§ - i, § —i.

B q - i, - i, T - iv,T-v

(o] ;T - v, - iv, T - i, §-1

D o - i, - L, - v, § - iii

E None of the above

Correct Answer A

Marks 1



43

44

Question Description

Correct Answer

Marks

Question Description

A

B

Correct Answer

Marks

ST fae@eTr I IT9e I TET AIIETET (e WY, 3]3R) T-AYATAT FIET Holl ST IR, TAT=AT HTATEIT DA [eqH TATTISE HLaml I

e

JRTT "W

SEIpL

None of the above

e T =T Al AT w?
AR s

SREIELE SRR

fageet et
ERIEIKEESERICINS

None of the above



45 Question Description JErer TR ROTAT FYUTHUE AT 3TE =T TR ?

A ;Y FE ARG
B SreATarer ST
Cc SIRIES
D YT Hrae=T
E None of the above
Correct Answer B
Marks 1
46 Question Description ATHT TATE &;T 95.9\90T (A fgeiedT [IREsTT Med Jr=amaiear TaEau e &7 T a@«rer
A WIS SToT AR, 3T FUTAT HARUT AT+ HIUCAT Feadr=aT HIHIT Fgeet e?
B ATE TS IT=AT A qIor=ar gedia
c YT AT FT=AT SATAI=AT ST =41 §aia
D o AT A=At AT W fasar =T gt
E None of the above
Correct Answer D

Marks 1



47 Question Description TREGU AT WSITET HIRUT Frofi Are & I HUT fAfger?

A AT ASHIT
B AT THAFT ATSHUT
© THo THo ATSHUT
D T T AT
E None of the above
Correct Answer B
Marks 1
48 Question Description FAAATC, T FoT ATATYD, T AT TAAT, G T G, Saa, T e ST Gra< dr Qe & Aesh fawa et qisr Wik
A YUt qre qUET
B SFUEIEZE KD
c et fauw a0a, T faum 3@
D i
E None of the above
Correct Answer B

Marks 1



49 Question Description ‘giafed T |igfear =7 | aigfear @er afuder
T FET A GigS T qrer | ghar AT S gwae & i wor fefeer o

A qo qIH

B T RIS

c o F=MTAT

D SESISICEC LS

E None of the above
Correct Answer D

Marks 1



50 Question Description TAAET T T AGH AT G ASAT JobaT
. ACTEATHHT (AT UF F =) i1). a9 99T
AT, AMCA AT AT AefRaw ii). TST AT@aeE]
T. AQS AT SAETEEt iii). s ar
%. S iv). qE™T T9
V). TqAET FTATHT

A T —v, M —iv, T—ii, T—i.

B T —il, M-, T—iv,T-v

(03 T - Vv, - iv, T - i, T—i
D T - i, - i,§ - v,§ -iii
E None of the above

Correct Answer A

Marks 1

51



Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage Below and answer the following questions:

From the very beginning man has attempted what has seemed impossible. Man is different from the rest of the creation
in this respect. He has an eternal thirst for adventure. This has led to countless new discoveries and inventions. Human
curiosity is limitless. This has led to space flights and moon landings. The desire to know what is beyond the visible
world takes many forms. The Everest hero Tenzing and the hero of the ‘Seven Seas’, Mihir Sen, were inspired by the
same restless spirit. Astronauts Armstrong, Collins and Aldrin, who were the first humans to set foot on the soil of the
moon, have proved beyond doubt that man shall not rest until he has conquered the entire universe. But, is it enough to
know and master nature? Which is more important: knowing and understanding the world around or knowing and
understanding yourself? In the absence of self-knowledge, the most advanced knowledge of the universe is not only

useless but dangerous.

From the options provided below, identify the phrase that does not describe the innate nature of human kind, as per the passage
eternal thirst for knowledge

countless new discoveries and inventions

desire to know what is beyond the visible world

restless spirit

None of the above



52 Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage Below and answer the following questions:

From the very beginning man has attempted what has seemed impossible. Man is different from the rest of the creation
in this respect. He has an eternal thirst for adventure. This has led to countless new discoveries and inventions. Human
curiosity is limitless. This has led to space flights and moon landings. The desire to know what is beyond the visible
world takes many forms. The Everest hero Tenzing and the hero of the ‘Seven Seas’, Mihir Sen, were inspired by the
same restless spirit. Astronauts Armstrong, Collins and Aldrin, who were the first humans to set foot on the soil of the
moon, have proved beyond doubt that man shall not rest until he has conquered the entire universe. But, is it enough to
know and master nature? Which is more important: knowing and understanding the world around or knowing and
understanding yourself? In the absence of self-knowledge, the most advanced knowledge of the universe is not only

useless but dangerous.

The passage indicates that mankind differs from other living species in
the thirst for adventure

self-knowledge

the desire to conquer the universe

attempting the impossible

None of the above



53 Comprehension

Question Description

Read the Passage Below and answer the following questions:

From the very beginning man has attempted what has seemed impossible. Man is different from the rest of the creation
in this respect. He has an eternal thirst for adventure. This has led to countless new discoveries and inventions. Human
curiosity is limitless. This has led to space flights and moon landings. The desire to know what is beyond the visible
world takes many forms. The Everest hero Tenzing and the hero of the ‘Seven Seas’, Mihir Sen, were inspired by the
same restless spirit. Astronauts Armstrong, Collins and Aldrin, who were the first humans to set foot on the soil of the
moon, have proved beyond doubt that man shall not rest until he has conquered the entire universe. But, is it enough to
know and master nature? Which is more important: knowing and understanding the world around or knowing and
understanding yourself? In the absence of self-knowledge, the most advanced knowledge of the universe is not only

useless but dangerous.

Read the following statements and arrange them in a logical sequence in line with the tone of the passage
(1) In the absence of self-knowledge, it is also dangerous

(i1) Knowing and understanding yourself is more important

(ii1)The most advanced knowledge of the universe is useless

(iv) Knowing and understanding the world around is important

(i); (ii); (iii) 5(iv)
(iv); (11);(ii1);(iv)
(iii); (1); (ii) 5(iv)
(ii); (iv); (iii) 5(1)

None of the above



Correct Answer
Marks

54 Comprehension

Question Description

A

Correct Answer

Marks

B
1

Read the Passage Below and answer the following questions:

From the very beginning man has attempted what has seemed impossible. Man is different from the rest of the creation
in this respect. He has an eternal thirst for adventure. This has led to countless new discoveries and inventions. Human
curiosity is limitless. This has led to space flights and moon landings. The desire to know what is beyond the visible
world takes many forms. The Everest hero Tenzing and the hero of the ‘Seven Seas’, Mihir Sen, were inspired by the
same restless spirit. Astronauts Armstrong, Collins and Aldrin, who were the first humans to set foot on the soil of the
moon, have proved beyond doubt that man shall not rest until he has conquered the entire universe. But, is it enough to
know and master nature? Which is more important: knowing and understanding the world around or knowing and
understanding yourself? In the absence of self-knowledge, the most advanced knowledge of the universe is not only

useless but dangerous.

In the passage what is described as boundless
the desire to know

the universe

the restless spirit

human curiosity

None of the above



55



Comprehension

Question Description

Correct Answer

Marks

Read the Passage Below and answer the following questions:

From the very beginning man has attempted what has seemed impossible. Man is different from the rest of the creation
in this respect. He has an eternal thirst for adventure. This has led to countless new discoveries and inventions. Human
curiosity is limitless. This has led to space flights and moon landings. The desire to know what is beyond the visible
world takes many forms. The Everest hero Tenzing and the hero of the ‘Seven Seas’, Mihir Sen, were inspired by the
same restless spirit. Astronauts Armstrong, Collins and Aldrin, who were the first humans to set foot on the soil of the
moon, have proved beyond doubt that man shall not rest until he has conquered the entire universe. But, is it enough to
know and master nature? Which is more important: knowing and understanding the world around or knowing and
understanding yourself? In the absence of self-knowledge, the most advanced knowledge of the universe is not only

useless but dangerous.

From the options provided, select the antonym of the word “restless”, in the sense implied in the passage

peace loving
calm
contentious
cager

None of the above



56 Question Description Maruti Suzuki Installs Asia's largest 20 MWp carport type Solar Plant at which state?

A Haryana

B Maharashtra

C Rajasthan

D Punjab

E None of the above
Correct Answer A

Marks 1



57

58

Question Description

Correct Answer

Marks

Question Description

Correct Answer

Marks

B. C. Roy Award is given in the field of

Music

Journalism

Medicine

Environment

None of the above

C

1

World Veterinary Day is being celebrated on which date?

April 29

April 28

April 30

April 27

None of the above



59 Question Description The world's first wildlife conservation bond Has been issued by the World Bank for which animal?

A White elephant
B Black Rhinoceros
C Asiatic Lion
D Bengal Tiger
E None of the above
Correct Answer B
Marks 1
60 Question Description Who was the first Indian Chief of Army Staff of the Indian Army ?
A Gen. K.M. Cariappa
B Vice-Admiral R.D. Katari
C Gen. Maharaja Rajendra Singhji
D Gen. Vishit Singh
E None of the above
Correct Answer A

Marks 1



61 Question Description ‘Who among the following has recently been appointed ambassador of Indo-UK culture platform?

A Sonu Nigam
B Arijit Singh
(] Shankar Mahadevan
D AR Rahman
E None of the above
Correct Answer D
Marks 1

62 Question Description Tap to pay for UPI’ is a new functionality launched by which platform?
A Google Pay
B PhonePe
C BHIM App
D Paytm
E None of the above
Correct Answer A

Marks 1



63 Question Description India has recently launched its first COVID-19 vaccine for animals. What is the name of vaccine?

A Petcovax
B Anocovax
Cc Creacovax
D Armacovax
E None of the above
Correct Answer B
Marks 1
64  Question Description What is the name of the eBook launched by the Income Tax Department?
A Amrutwani
B Pratidhwani
C Aatmnirbhar
D Kiyaverse
E None of the above
Correct Answer B

Marks 1



65 Question Description Baikho festival is celebrated in which state?

A Manipur
B Nagaland
C Tripura
D Assam
E None of the above
Correct Answer D
Marks 1
66 Question Description In the question, a piece of paper is folded and cut as shown below in the questions figures. From the given option figures, which one indicates how it will

appear when opened.



&

& |

& | &

£F

Q|
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Cc C

D D

E None of the above

Correct Answer C

Marks 1

Question Description In a family of 7 persons, there are only 3 females and three married couples. Each child has both the parents alive. The family members — A,B,C,D,E.F and

G spent certain amounts in a month.
B is the only son of G, who spent the third highest amount. A is not a female and spent an amount just lower than D’s husband. C is the father of two
children of different genders one of them is D. E’s mother-in-law was the third highest spender. F is the aunt of A and spent the highest amount. The

spendings of E were just lower than A’s uncle, who spent the fourth highest amount. C spent Rs. 4500, which is the second highest amount to be spent.

How is the second highest spender related to the second lowest spender?

A Father

B Maternal grandfather
(] Paternal Uncle

D Can't be determined
E None of the above
Correct Answer B

Marks 1



68 Question Description Look at this series: 7, 10, 8, 11, 9, 12, ... What number should come next?

A 7
B 10
C 12
D 13
E None of the above
Correct Answer B
Marks 1
69 Question Description [fence [ wall boundary
path | alley ?

The words in the bottom row are related in the same way as the words in the top row. For each item, find the word that completes the bottom row of words.

A ramp

B passageway

(] airfield

D pedestrian

E None of the above
Correct Answer B

Marks 1



70 Question Description Find the missing Numbers.

38 54 |61 79

21 7 12 24

19 |09 |14 ?

A 18, 46

B 28,51

(] 42,62

D 18, 44

E None of the above
Correct Answer D

Marks 1
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72

Question Description

m O O W >

Correct Answer

Marks

Question Description

Correct Answer

Marks

Find out the wrong number in the given sequence of numbers.

105, 85, 60, 30, 0, -45, -90

60

None of the above

A
1

Here are some words translated from an artificial language.
hapllesh means cloudburst

srenchoch means pinball

resbosrench means ninepin

Which word could mean "cloud nine"?
leshsrench

ochhapl

haploch

haplresbo

None of the above



73 Question Description January 1, 2008 is Tuesday. What day of the week lies on Jan 1, 2009?

A Monday
B Wednesday
C Thursday
D Sunday
E None of the above
Correct Answer C
Marks 1
74 Question Description Find out the alternative figure which contains figure (X) as its part.
q
I BEZACS
(X) (1) (2) @ @
A 1
B 2
C 3
D 4
E None of the above
Correct Answer A

Marks 1



75 Question Description Statement: Most of those who study in premier engineering colleges in India migrate to developed nations for better prospects in their professional pursuits.
Courses of Action:

|. Al the students joining these colleges should be asked to sign a bond at the time of admission to the effect that they will remain in India at least for ten years after they
complete education.

Il. All those students who desire to settle in the developed nations should be asked to pay entire cost of their education which the government subsidises.

A Only | follows

B Only Il follows

(03 Either | or Il follows
D Neither | nor Il follows
E None of the above
Correct Answer B

Marks 1



